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KEEEHA FIA4 VICEISEBIER OKESEXE)

RETRELGK
Wk X5 =5 PI% R7T PIfiE R2 PI{iE R3 PI{# ==L SHER
A101 FIREBIESRIERE 0.67 0.71 0.72 (mg/L) REBIEREE G RBIERAEDE
Al02 BRAHERVMEREKEEEHX 0.0 0.0 20.0 (%) (RAHERERE/ KEE(E) x 100
A103 #BUI\OXYBEKEEELK 27.0 24.0 29.0 (%) 3 (fR7KARDFMNDM VBEY #aKA2EK) / KEE#fEX 100
A104 Bt (TOC) BEKEBEELXK 30.0 30.0 26.7 (%) 3 (MKEDBHY (TOC) BE/ EKiEE) / /KEE4MEx 100
KEEE Al105 EEEEE/KEEREXK 0.0 0.0 0.0 (%) 3 (K DHZESRBEE/ fa7KIEER) / KEE%EEx 100
Al106 \EHYEREKEEELR 20.0 20.0 20.0 (%) > (fR7KAEDHERBHMBEIRE/ #6/K1220) / KEE%EMEx 100
A107 BHtFMEEEKEERELK 0.0 0.0 0.0 (%) S (fRKAE DU B EMERE/ #a7KieER) / /KEE%EEx 100
FE A108 |HEEIAREEKEEEELLR 30.0 40.0 30.0 (%) 3 (faKAE DR HSBRIERIIRE/ #7K1220) / KEBE%EMEx 100
A109 EREEKEEEREL 0.000 0.000 0.000 - max Z(Xij/GVj )
A201 [FEKKEBERRE 183 184 184 (I58) FOKEESIRIER 2L
A202 |fa7kiEKERE (BH) BFEE 9.9 9.9 9.9 (BFf/100 km?)  (FAZAKEBRE (BH) HUKERE/RER/KERE)%100
e A203 |Be/KitEIEEMmER 43.7 31.0 31.0 (%) (5EFRITER UIEKERMEE / BokthEME=E) x 100
A204 |EHERIKR 65.6 65.8 66.5 (%) (EREFAKIEER /487K F41) X 100
A205 |BF/KIEIKEISESR 0.7 0.0 0.0 (%) (AT7KAE/KEBIS B / BT/KIBKIESR) x 100
B A301 |KIRDKESBHFEL 0 0 0 () FRKFKESE R
A302 | #FREMRNIBLEER 0.0 0.0 0.0 (%) (MFRTE R RIYEKE/FRFKE)x 100
s EE A HER T A401 PABUKEKER 30.9 29.9 29.2 (%) (SREMEK B/ FaKHF#2) x 100
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RZE L=KDHE

Wk X5 =5 PI% R7T PIfiE R2 PI{iE R3 PI{# ==L SHER
B101 ECHEENRE 0.0 0.0 0.0 (%) (B RAKEKE/2KBKE) %100
B102 HUKE1m 4/ DKRRLIZELE 0 0 0 (F/m?) ABRE (18 U T BB R/ RIEUK &
B103 1 F/KE 0.0 0.0 0.0 (%) (T oAk / ERIEUKE)x 100
B104 HERFIME 45.9 46.5 453 (%) (— B EIEKE/HE8EE ) x 100
B105 EAHMEIE 49.2 49.8 48.6 (%) (—BRABKE/HEREET) x 100
B106 &% 93.4 93.4 93.2 (%) (—B IR E/— B R ARKE)x 100
B107 BUKEERZE 19.8 19.8 19.9 (km/km?) Bl/K R/ ARTEAA/K TS
B108 BHSIRE 31.9 25.8 30.7 (%) (FiR U BISIES | BIER) x 100
MREE | B109 JULTEBRE 0.4 0.0 0.1 (%) (=R LT/ ULTH / JULTBEE) x 100
B110 EkE 38 3.9 2.9 (%) (ERIRKE / ERIEUKE) x 100
Blll BWE 96.0 95.9 96.9 (%) (ERIEKE / ERIBKER) x 100
B112 AIRE 93.1 93.2 94.4 (%) (ERIBUUK R/ ERIELKE) x 100
B113 B/ACHATEREE 0.57 0.56 0.58 ) BB SR/ —OPEKE
B114 #/KAC— AN/ DEUKE 324 329 317 (/BN (—BETIRKER/ERAAD)x 1,000
B115 #/kHIREZ 0 0 0 (2) ERIAKHIRE
B116 #KERE 100.0 100.0 100.0 (%) (R A/ K IR A ) x 100
B117 |&f@sutRsEnEsR 16.6 17.5 18.6 (%) (ARBEER Y Bt - ER - STEMERDEETE) x 100
B B201 FKBBREIS 1.00 1.00 1.00 (/10 &-EF7) | L0FBOE KSR BRI | B
B202 EHISHIAACE 0.0 0.0 0.0 (%) (BB N BRFERRA A x 100
B203 #A7K ACI— A7z DETERRRAV KR 94 94 93 (LA EACHENBEX1/2 + B2EKIEEE)x 1,000/HERK AL
B204 BEOBREA 0.1 0.6 0.3 (#5/100 km)  BIEOBRA /( SHIES/100)
B205 HHEEOBRES 0.0 1.4 0.7 (#5/100 km)  ESEmEOBHKAL/ (EREBIES/100)
EEENE | B206 HBEBOBMIA 0.0 0.6 0.0 (#5/100 km)  SREEOBRA / (REHIES/100)
B207 IFHBMEROBMEIS 0.0 0.0 93.8 (#£/100 km)  SFEAMBIROBMAL / (GFHRREEIES/100)
B208 fAKEDBHEIE 5.3 5.4 4.7 (#4/1,000 %) |#EKEDBEMFLER / (FEK4HE/ 1,000)
B209 #/KACI— A7z DMk - Eksse|  0.00 0.00 0.00 (B579) S (K- BB x WK - BAKRIAK AL / BERA AL
B210  S¢ZEAIERIIRSIEEIZ 10 8 9 (B %) RIS R EEA
B211 SHARBEEE 5.1 5.1 5.1 (B/km) HNRES | BUKEHEE
B301 BUkEIm3 L DB HEER 0.45 0.45 0.45 (KWh/m?)  BEmEnas | EEiokE
B302 EUKEIM3 %/ DEETRILFE— 4.52 4.49 4.54 Mym) IR —EEER / EREEUKE
- B303 iigzgm SRED=RERE (CO,) 244 171 181 (g-COym®)  [CEELHZE (CO2) HREE / ERIEAKR] x 10°
BRIEN =) ol By = = = == =
B304 BAABETRILE—FIME 0.00 0.00 0.00 (%) ffmbl*}b*_mﬁ@%b@mi/ FIAOBIGRR x
B305 kR OEMFIRE 100.0 100.0 100.0 (%) (EFIFLE / SKFETE) x 100
B306 EREEMD YA IILE 100.0 100.0 100.0 (%) (UHA DI ENRREENE | @RIENRER) x 100
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ZE L=k itfa
DHE X5 &S PI% Ryt PHE R2 PIE R3 PIE BAfi7 SHER
s | BA0L 9OTIVIEKE - BEE 99.8 99.7 99.7 (%) (D5 1)BKERE + WBEE) / BWEE] x 100
X B
> B402 EIRDIEE 0.09 0.20 0.1 (%) (B EIEE/SIEE)x 100
B501 AL FAEABE R KRR 0.0 0.0 0.0 (%) (EEMRESEBR T\ 3 KHEREE /28 K HER8E 1) x 100
SETET BX TUL\BHM, - B - SHEBRFELREDES
BS02 EEMFFABBRIHE 66.2 67.7 68.5 (%) CREMBFAEIT CLISHI - F5 - SRR coaita
— b - B - SHEERE S DA x 100
X B503 EEMAEABRERE 38.5 39.4 41.7 (%) (CEEMAESERR T2 ERIEE/SIIER)x100
B504 EIROBHE 0.94 0.85 0.28 (%) (B SN ERITEE/BRIEE)x 100
B505 EIRMELR 0.000 0.000 0.000 (%) (B4 SN BRIEE/SIIERE)x 100
B601 RARIDEKEEER 0.0 0.0 0.0 (%) (BUKREBEE /28 K HEaREE 1) x 100
B602 HKHEROMIE(LE 39.3 39.3 39.3 (%) (T SR DR S NI B K HBERAE 1 /28 K HEEREE 1) x 100
o i (LR - 2B%EET BHEROMEFKIEREEN + 3 BDHHEEDM
B602-2 SE/KHEER DT BHEETE( LR 39.3 39.3 39.3 %
PRIRDERBENMR o AP )/ 3P HERRAE] X 100 i
8603 |t~ T OIS cau 61 s61 ) (lmoﬁéﬁiﬂ‘ﬁﬁﬂﬁjﬁéﬂf77_71'\/jFﬁﬁujj/fﬂﬁt;mi“J%Qﬂ'\/jFﬁﬁcﬁ)><
R B604 E/ASHOME(LE 78.4 65.1 65.1 (%) (MR HEDE SN ERIEN SR/ B SBHER)x 100
B605 EHROMEEX 24.4 24.4 25.8 (%) (MEEEE/SEE)x 100
B606 EHEROMEER 49.1 50.1 51.1 (%) (EHBEROS SMEEEE/EHNERES)x 100
B606-2 E#EROMTESE 49.1 50.1 51.1 (%) (ESEROS SMEEE DS 3 ERIEE/ESNERIEE)x 100
EERR SRR ERDS BTHESIE K B IRIE
= B607 EEHAKHERALKEBOMEEE 62.7 64.0 66.1 (%) Siﬁ?mﬁ SECKEIR0) S SIREIE &/ B Rie AR BT
: X (BB KEREKERDS SMEEA DS 3 SRIEE/ B
B607-2 BEIE/KHERAKEROMEESR 62.7 64.0 66.1 %
BT KR EUK BT EE (%) PRI ) 100
B608 (SEIEIKERER 18.9 7.8 8.0 (%) (SR EEE (CHRE T = BEUKAE S/ — B 19K E) x 100
I (PSR TR R RS — O TR E) U H(TERRITRE/
B609 EIMFEH 33.8 44.8 47.1 =
REREES & A — O ERE) D55, INENHOE
B610 MAEMEZEM 0 0 0 G)) TR/ — DR BRI
B611 | [SREKNMEERERE 19.7 19.7 19.7 (E7R/100 km?)  IEEHA/KIERE (BRTEHE/KETE/100)
B612 fakEREE 0.004 0.004 0.004 (&/1,000 A)  #a7KE%8/ (BRAERE/K AL/ 1,000)
B613 E#ADIGKY > IIREE 0.027 0.027 0.026 (mM3/1,000 \) | E#EIEKS > IDEE/ (18K AD/1,000)
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BELGEXERE

Wk X5 =5 PI% R7T PIfiE R2 PI{iE R3 PI{# ==L SHER
C101 |EZUNZIE= 113.4 103.5 114.1 (%) (BN - FETBINR) / (SLBA- FEISHE) 1x 100
C102 @BEUNZIb=R 112.4 102.8 113.4 (%) [(EESEUNES + B2 OMINER )/ (B E A + ERHMEA) ]} 100
C103 |#UXszit= 112.2 102.6 113.5 (%) (HAUNZS/HAEF)x 100
C104 |BiExigStt= 0.0 0.0 0.0 (%) [RIERIES/ (BRI — FETBIN)]x 100
C105 f@ASEHE (UNZHIUASY) 0.1 0.2 0.2 (%) (IBRHTERAS/IRZEHIUNA ) x 100
C106 @AZLLE (BAMUIAS) 3.2 3.0 95.0 (%) (BABTERAS/BAKIXAGT) X100
C107 |HEE— ALz DHRKINZS 83,714 74,278 78,923 (FA/N) HEOKINZS BB EFT R ES
C108 [#A/KINZICH T BMBHREEDES 10.3 12.3 12.5 (%) (B ERSB/$7KINE) x 100
C109 #A/KINZS (T3 T B EREOES 2.8 3.0 2.4 (%) ({BEEEFI S /487KINEE) X 100
C110 [#A/KINZS (T 9 BiRiEsED RS 18.0 20.5 18.4 (%) CRATIERNES/$87KINEE) x 100
Ciyy AT SREMRDTODER] 04 12.0 115 (%) (RO OB RERT S/ HKIN) x 100

BEEETEDIE

C112 (#A/KINZS (T T B3R EREOES 159.6 181.1 150.5 (%) ({BEEER S /4a7KINEE) x 100
C113 H&mEuR=E 102.3 92.4 101.0 (%) (FL8 ST/ 487K BT x 100

8% i ey Cl14 |{HfAHET 161.2 140.0 158.6 (F/m?3) HRIKINZS /R IUKE

R [(FEBER- (T 128+ MERUAE D AR+ e EEE+

CLIS #EkRim 1576 1>1.> 1>7.0 (F/m?) EHRISSRAN)] / EREIKE
C116 1HB10 m*YrDRERRS 1,100 1,100 1,100 (M) 1 HrB10M Y DRERRE
C117 |1 HhH20 m*Hiz DREARE 2,552 2,552 2,552 (M) 1 MA20m3Y iz DRERRE
C118 S#ENtt= 421.2 402.5 454.0 (%) (RENVERE/RENEME)x 100
C119 BECEAMMLEE 65.1 65.2 67.8 (%) [(BAZ+RIRE+ OIS HRIENE)/ &E - BRAFT 1x 100
C120 EEtt= 117.9 117.6 113.7 (%) [BEEEE/(BAS+RRE + AR +HREIRZE)]x 100
C121 |{bEEERTETRMENELLR 55.8 58.7 62.5 (%) (B R DIz DI EEE R TR/ SFERMIERE)x 100
C122 EEEELEmR 0.27 0.24 0.27 (=) (B2UNZS — FETBUNR)/[(PEEESE + BXEEEE)/2]
C123 EEEEERZE 16.2 16.4 16.1 (m*/3m) FREUKE/ B EEEE
C124 HE—ALZOBEIUKE 519,000 531,000 497,000 (m3/N) FERIRBIVKE / 1B EEFTERS2K
C125 MEFEKRBRDEIS 0.01 0.05 0.05 (/1,000 1) | ERMEFBERMAE / (Bl&FERM%8/1,000)
C126 |HEUUN= 96.8 97.2 97.4 (%) (KIEHALE FE8E) x 100
C127 |#aKkfELEEIES 9.1 8.9 9.1 (/1,000 1) #&KAZIEAFER / (FGK4F£2/1,000)
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BELGEERE
4R X5 BS PI& Ryt PI{E R2 PIfE R3 PIfE =Ly} HER
C201 |/KiERfICBIT 2 EREUSE 0.80 0.75 0.77 (F/N) S NEE L TUVWDKERITCRE T 2 E8E / S
C202 A\ ERAFHERFR 16.0 3.7 6.2 (BFRE/N) (BEENIEMHMEEZ TR ZHEAR) / 2HEK
C203 | IERHFHERSR 3.1 0.5 1.6 (BRE/AN) (BEENNEIHEZ Z 2RI X ZBAL) / 2B
— AMER C204 |#ftiiE =R 60.2 58.5 60.7 (%) (AT E LR / 2B x 100
Jue C205 |JKIEZEFEFITREREE 9.3 9.3 9.0 (5/N) B S DK ERTERERER / DS
C206 |ERBRIREES 0 0 0 (A-B) S (ERRIMEES x HIEEE)
C207 ERHBHZAESR 0 0 0 (A-H) > (BB HZAEL x HEEE)
sepmer C301 1&REF|FEER 100.0 100.0 100.0 (%) (BFEUTTKEA—T—E /| KEAXA—-F—FREE) x 100
C302 BKIGEHE=EERTXR 0.0 0.0 0.0 (%) (BE=BFRFEUITRKIBOFKNEREE S / £8KHEEREES) x 100
C401 |ILERERIC K DIBERDIEME 3.8 3.8 3.8 (BB/14) LERERR E DELIREDER / fEKAFER
BRI C402 12—V MMCKBDIBEHRDIZEE 190 183 146 ([=1) T IR—ADIB O

C403 KR RFEIE 0.9 0.0 0.0 (A/1,000 N) |RZE&E#/ (GRTEREKAL/1,000)

HBEETFE C501 E=#~E& EMELTLVRWN | BEMELTLVRWL EEfELTLRW] (A/1,000 A) EZH A%/ (BEEHKALO/1,000)

) e C502 77> — MNEHRINERE FEhELTLVRW 3.17 LT (A/1,000 A) P — REIEAE/ (ERTERER/KAO/1,000)

g—>3> S C503 |Ei#EERAZE ERELTUVRLY | BIELTULVRL | L TLVRWN (%) (EESRARELY / 7> — ~No&E#) x 100
C504 [KEH—-EX(CHTIHERGEES 0.24 0.40 0.31 (/1,000 1) |KEHY—EXSIBEMAEE / ($67K42%/1,000)
C505 |/KE(Cx T 2EIERGEE 0.15 0.29 0.17 (/1,000 ) | KEZIEIGHAER / (¥6K4H£2/1,000)
C506 |/KENECHTIEHBHLEE 0.00 0.02 0.14 (/1,000 ) KEREEEX SR/ (faK4H£2/1,000)
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